
34ATY-1 

1.1 yf1 

1.2 yTRal 

) 

2. 3AT�T ga 

H49 fTIT 2021-22 

T9U6R5 



1. 

2. 

3. 

4. 

5. 

6. 

7. 

8. 

4 

6. 

7 

8 

9 

-5 4 -3 -2 -1 

-5,-4, -3, -2, -1, 0, 1, 2, 3, 4..... . qurtcs fui 1,2,3, 4, 5, ..... 

g qujct yf a>b t eUlHG qurio a<b G 8> 4 
-8<-4 

qutfas 

G-5+(-5) =0,-5+5 =0; H TR qR yfe qurto T 

8 

0 +) +2 +3 +4 +5 

-8 

-5 

+5 

(8)+(-8)-0-s)++s)=o 

2 

-12 15 -20 16 18 



(1) 
() 

bbbbfdmdm(iv) ghghghghghghghghghghghghghgh``

Gi) 

( hm) 

iv) 

(v) -10) + 3 = 10 - 3 

(vi) 

-4+ (-8)+( 12 )+ (-18)+( 5 )=-13 

8 + (-7) - (-4 #8 +7- 4 

(a) 
(c) 

H4Y RT 2021-22 

56 + 73 = 129 

15 + 25= 40 

(b). 113 + 82 = 195 

(d) 20 + 30 + 15 =65 utI 
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(ü) 

(i) 

(iv) 

(v) 

(vi) 

1.3.1 

tf (-5) +(-8) =- 13, GT fs Ted s 

(-18) +(-7)+(-5) =-30 

() f I ) 

Gt a arà fay 

-77,3HY 

-8+(12)= 
25 +(-75) = 
-28 + (-52)= 
50 + 88 = 

-20+ (-15) + 50= 
-12 + (-4) + (-10) + 15 + 18= 

Te+, qat (8) + (20) = 12, 43 y# HUICHs qufs i 
(+15) + (-50) -35 

HET E 4 + (-8) + (12) + (-18) + (5) HRI ^H YR foUI GIGTI 
-4+(-8) + (12) + (-18) + (5) YI -30 + 17 =-13 

8+(-7) -(-4) =8-7+4= 12-7 TT 8+7-4= 1S -4= 11 
3JG: 8 + (-7)-4) 8+7-4, 3ICA 

GGIEYUG: 5 + 8 = 13 , T f y# yut HT I UHÀ f yE TT, quf 



6) 
(i) 

(v) 
() 
(vi) 
(vi) 

1.3.2 

8+ 4 = 12 

(3) + 5 = 
(25) + 8 = 
19 + (-25) = -6 
5 + -3) = 
-20) + 0 = 
(7) + -8) = 

(-3) +(-5) = -8 

H49 fGT 2021-22 

g4 YIt f(-3) + (5) =(-5) + (-3) 

1.3.3 HTEat TuT (HET) 

y7: (-5) +(3) =-8 

oGI ? y q. Ë a 3iR b quja a +b=b+ a, 48 hH faf-y u 

qurot -3, -2 yd -5 fifyI 

-5) + [3) + -2)] 3tr [(-s) + 3)] + 2) qR AA Y| 



-10 

(3)+2) 

-S 

-s) + i-3) + (-2)) 

(5) 

1.3.4 dH6 

1, -3, 3ir -7 

(-s) + I-3) + (-2)] = ((-5) + (-2)) + -3) 

3) + [l + ())= -3 + 

I-3) + 1] + )= -2 + 

(-5) +0=-5 

a +0=a 

I 

0+(-5) =-5 

(-5)+0= 0+(-5) =-5 

(2) 

-10 -8 

RT -3) + [1 + -7)) d [-3 + 1] + ) T BT HHTT 3? 

qufcat a, b str c forg g4 DE HOT f a + (b + c) = (a + b)+c 

0 +a= a 

(5)+-3) 

(-s) + -3)) + ((2) 

(i) 2+0=2 

0 

y: 0+2=2 

0+2=2+0 

74 a uig fay o' (gr) qurts TH46 (Additive idenity) h8AIGI 



1. 

|2. 

3. 

4. 

5+(-2) =-2+5 

{(-2)+5}+(4) =-2 + (5 +(-4) 
-25 +0 =-25 

-12 +(-5) =-17 

1.4 qurfÌ 1 (Subtraction) : tf str wg 

(ü) 

qthd4 
12- 20 =-8 

(a) 

HHY fIT 2021-22 

-5-(-4)=-5+4=-1 

-5-(-50) = 20-(-45) = 

1.5 qufoÌ 61 UT (qoi 
- 10- (5) =- 15 

4, 12, 20, 28, 

8, 6, 4, 

-8, - 12,20, 
-15, -10, -5, 

(iv) 

fy) 
(b) 

8-(-5) =8+5= 13 
-10- (4) =-10� 4=-14 

-55-(+75) = -60-(-4)= 

6-(-10) =6+ 10= 16 



1. 

2. 

3. 

4 

5. 

6 

7. 

(a) 

(c) 

(a) 

(d) 

(a) 

(d) 

(a) 

(a) 

(d) 

(a) 

(d) 

-5 3ir 5 

-6 3R -2 

- 20, 4 

- 20, -7 

-6-8 
-50-54 + 4 

- 18 

18 

-8, 12, -5, 15, 20, -2 

25 

- 26 

yHIT-1.1 

(b) 

(5) + (2) = 

(e) 

(b) 

(e) 

(b) 

(e) 

RT (5) + (2) = 2+ (5) ? 

(b) 

(d) 

25, -2 

- 15, �8 

(b) 

(e) 

15 

-5 

- 59 

+ 100 

-2 sr 8 

8 

-4 sR -10 

40 

(c) 

(b) 

() 

25 25 

(c) 

(c) 

0, -5 

(2)+(5) = 

-20, - 18 

(c) 

() 

5,0, -2, 4,-15, 8 

-20 

-152 

-55 

4- 15|2-20 



() 

) 6|3 -6+3|3+(-6) 

(m) 

8. 

9. 

10. 

11. 

a 

12. 

) 

() 

(m) 

(iv) 

(a) 

(c) 

(a) 

(c) 

(a) 

(c) 

(a) 

a+b b+a (a+b)=(b-+a) ? a-b 

=3 

-8+ 

(-a) + (6) = (6) + ( 

15 + 

=3 

- 15 - 18 T 

(2) + [9 +(-6)] = (2 +9] + (.. 

+ 24 - 16 

- 15 

-8 

H49 fTTT 2021-22 

-5 

- 16 

=0 

) 

= 15 

6)-3)|(36)| 
=-9 

(b) 

(d) 

(b) 

(d) 

(b) 

(d) 

b-a 

(b) 3/R - 18 

= 9 

-20 

-8 

25 

RUT (a-b)=(b-a) ? 

- 20 

(HOT (a) + fy (i)-5+(-3) =-8 (i) �1+(-)=-8) 

17 

5 

-75 

-18 



16 

) 

(ü) 

quitot oI n (Multiplication of integers) 

34 UHG } 4 x 3 yri 4 IR gerf 4 + 4+ 4 = 12 

0 4 

HET RT HE 4+4 +4=3 x4= 12 3G: 3 x4 =12 

-20 

HT: YR (-5)+(-5)+(-5) +(-5) =-20 H-TT ERI.SH SH YOIR 

-15 

(+ a) x (+ b) = + ab 

HeT T 4E’-5) +(-5) +(-5) +(-5) = 4 x-5=-20 

12 

-10 

HHT t a str - b qot | 
(+ a) x (- b) =- ab 

10 

5 x(-6)= 
4 x(-2) = 
3x(-4) = 
5x(-2) = 
2x7= 

https://www.evidyarthi.in/


) 

(i) 

5 x 3 
5 x 2 

5 x 1 

5 × 0 

5 x (-1) 

5 x (-1) 

4 x (-1) 

7x 3 y NI 

3 x (- 1) 

2 x (-1) 

1 x (-1) 
0 x (- 1) 

H49 MrT 2021-22 

= 15 
= 10 

=5 

=0 

=? 

= -5 

(- I)x(-) =? 

= -4 

= -3 

= -2 

= -1 
= 0 

str tet qI�- ) -s x 3 

11 

IT: 5 x(-)=-5 

(ta) x (+b) = +ab 

(-a) x (-b) =+ab 
(-a) x (+b) =-ab 
(+a) x (-b) = -ab 

(ii) -3x 4 Y6 Fö 



7 

6 

4 

3 

2 

9-81 

1 

-1 

v) -30 × 20 = 

2 

-3 

-4 

) 

-5 

(ü) 

6 

(ü) 
(iv) 

(+5)x(+ 4) =+ 20 
(-5)x(+ 4) =-20 
(+8) x (-2) =-16 
- 10 x (5) = + 50 

-8 x (-20) = (n) 

() 

5 x4 = 20 
-5x4=-20 

8x(-2) =-16 

12 

- 10 x (-5) = 50 

-5 x(-15) = 
18 x 4 = 

(m) 

(vi) 

- 10 x 40 = 

-9-8 -7-6-5|-4|-3-2-1|01|23456|7 |8910 

16 x (-5)= 



1.7 

(a) 

(b) 
(c) 

(d) 

(a) 

(b) 
(c) 
(d) 

(-2) x (-4) =8 

(-2) x(-4) x (-5) = (-2) x(-4)] x(-5) = 8 x-5=40 
(-3) x(-4) x (-6) x (-8) =[(-3) x (-4)] x [(-6) x(-8)] = 12 x 48 
= 576 

(-4) x(-5) x(-2) x(-6) x (-3) = [(-4) x (-5)] x [(-2) x (-6)] x 
(-3) = 20 x 12 x (3) = 240 x (-3) =-720 

4x2=8 

-5x-3 = 15 
-2x4=-8 

3 x-6=-18 

13 
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IJ. 

III. 

�H K LalGD- gî ycR 5× (4) = 20 
2 x(-8) =-16 
8)x2 =2 x (-8) 

-4x5 x6 

’ -5 x(4)=4 x (-5)> 

3x-2 x 4, 

(2 x 3) x 4 

3JT: (2 x 3) x 4 =2x (3x4) 

4 x(5)=20 

=6x4 

= 24 

(-4x 5) x6 
=-20 x6 
=-120 

3HT: (�4 x 5) x6-4x (5 x 6) 

14 

G) -3 x -5 x 7 

-2 x3= -6 

3x(-2) =-6 
-2 x3=3 x42) 

2x (3 x4) 
=2x 12 

= 24 

-4 x (5 x 6) 
=-4x30 
=- 120 



(ax b) xc 

4 x (5+ 8) 
=4x 13 

hs H H f a, b 3r c f qufa t (axb) xc = ax (bxc) 

= 52 
3/: 4 x (5 +.8) = 4x5+4x8 

HT: 4 x (-5+7) 

HHY fAT 2021-22 

4 x(-5+7) 
=4x2 

=8 
=4 x(-5)+ 4 x7 

4 x (5 +(-7)) 

4 x (5�7) 

a x (b X c) 

=4x(-2 ) 
=-8 

HT: 4 × [5+(-7)] = 4x5+ 4 x-7) 

15 

= 4x5+4 x 8 

= 20+ 32 

= 52 

4 x(-5)+ 4 x7 
= -20 + 28 

= 4x5+4 x(-7) 
= 20- 28 

= -8 



V.. 

VI. 

VIL. 

a(x+ y) =ax+ay 

4x1= 4 

-2x1=-2 

5x(-1)=-5 

-5 x(-1) =+5 

-ax-1a 

2x0=0 

-4 x0=0 

a y* yufs , 

8>5 

ax) =0 

8 x2>5x 2 

-3) x 1 = 
(4) x 1= 

25 x 0 = .... 
37 x 0 = 

16 

-1x5=-5 

25 x 1 = 

-1x(5) =+5 

8>5 

-32 x 1= 

125 x 0 = 

229 x 0=.. 

8x-2<5x-2 



IX. 

qorts 

afa a, b TeT c quffcs f a>b t 

(1) 

() 
i) 

a xc>bxc yf c= yut Bt, 
a xc<bxc qf c= EUyuto a 

2 x3 x4= (2x 3) x 4=2x (3 x 4) = (4 x 2) x 3 
-2) x(-3) x (-4) = [(-2) x (-3)] x (-4) =(-) x [(-3) x (-4)]= 

[(-2) x-4] x (-3) 

= (20 × 78) x 5 = 1560 x 5 =7800 
3RTAT, (20 x 5) x78 

100 x 78 =7800 

17 
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gGIErx 12 () 

(11) 

28 x 12 = 28 x (10 + 2) 
= 28 x 10+ 28 x 2 
= 280 + 56 = 336 

(- 25) x (- 98) 
=-25 x (- 100 + 2) 
= (-25) x (-100)+(-25) x 2 
= 2500 -50 = 2450 

(a) 
(c) 

- 50 x 48 x 2 

-75 x 52 

TU5 =-30 

15 x HI qUiF =-30 

-30 
15 

(i) 

18 

(iv) 

(b) 
(d) 

=-2URI 

-8 x 48 

-8x (50 -2) 
= -8x 50 + |(-8) x (-2)] 
=-400 + 16=-384 

54 x(-8) + (-54) x 2 
=-54 x 8+ (-54) x 2 
=-54 x (8+2) = - 54 x 10 
=-540 

850 x 48 

-38 x 2-38 x 8 



1. 

2. 

3. 

4. 

5. 

6. 

(c) 
(e) 

(g) 
() 

(i) 
(v) 

(viü) 
(vü) 

(ü) 
(ü) 

(ü) 
(i) 

(- 80) x(- 50) 

(iv) 

HTY fRTE 2021-22 
uyTa 1.2 

(-3) x 35 x (� 10) 
(- 4) x (-4) x (-4) x(-4) 
(-20) x (- 15) x (- 25) x (-5) 

(- 20) x (-5) =(-5) x (-20) 
|x-425 =-425 

(-5) x (2+3) = (-5) x 2 + (-5) x 3 

Kunfrs F-5)=-5x 42 

(- 8) x (- 4) =(-4) x (-8) 
(20 x 30) x 40 = 20 x (30 x 40) 

25 x (28 + 2) = 25 x 28+ 25 x2 
(50 x 60) x 70= 50 x (60 x 70) 

(- 24) x (5 x 2) = (- 24 x 5) x 2 

+ (4) x (-2) 

(b) 

(d) 

19 

f) 
(h) 
() 

(1) 
(iv) 
(vi) 

[(-2) x (- 12)] x�24 = (-2) x [(-12) x (-24)] 

(iv) 

( 405) x( 5) 

(v) 

(-|)x 15 
(- 25) x 
(-2) x (- 2) x (- 2) 
- 50 ×5 x (-20) 

-38 x l=38 
43 x 0 = 43 

- lx 25 =-25 

-2x- 10= 20 
-5x 1=-5 

bU FFIL0-4x [2 +(-2)]=-4x2+(-4) x (-2) =-8 

-50 



7. 

8. 

9. 

10. 

FHOT HH YA T aT yg (-4) x (-2) = +8 

(tm) 
(V) 

-2 
3 

-4 

-] 

() 

5 

() 

(üi) 
(iv) 
(v) 
(vi) 

(iü) 

(-7) x5+(-7) x 11 
8 x (50-4) 
987 x 98 

-1 

-20 ufte4 20, 

-4 xl=-4 
-5 x0=0 

(+2) x (-3) =-6 

-2-34 

(-2) x (-2) = +4 
( 
( 

) 
) 

(ü) 

20 

(iv) 
(vi) 

() 

(iv) 

675 x (-5) - 5 x (-675) 
5x 27 x(-4) 
- 57 x (- 19) + 57 

6 

( 

( 

( 
( 
( 

(-4) x (+8) = +32 ( 

(+3) x (+4) =-12 ( 

) 

) 
) 

.) 

) 
) 



11. 

12. 

13. 

14. 

() 

() 

(ii) 

(a) 

(b) 

(a) 

(b) 

21 
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1.10 Yuj d .T HÍhyi Division Qperatign in Integer) 
+4=7 eT 28 +7=4 

I yeoR Sx4= 20 aitr 20 + 5= 4 Vd 20 + 4 = 5 IT ETdI I 

2 x(-6) =(-12) 
-4) x 5 =(-20) 
(-8) x ( 9)=72 
(3) x (7)= 

(8) x 4 =, 
5&-9) = 
(-10) x E5) = 

(-12)+2=-6) 
(-32) + 4=-8 

72 +(-8)=-9 
72 +(-9) a-8 

(-12) + 6) =2 
(20) + (5) = (-4) 
72 + 

+(-3) = 

(-12) ÷ 2=(-6) 
(-20) +(-4) =5 

50 +(-10) = -5 
50 +(-5) = -10 

72+ 

(-20) + (5) = (-4) 
(-45) + 5 =9 



(a) 
(d) 

a 

(ta) + (+b) =+; o) +(-b) =+;,(+a) +(-b) =-()+(+b) =-, 

(ü) 

b 

- 50 + 10 

H44 fIHT 2021-22 

90+ (-3) 
(b) 
(e) 

a 

-56+ 7 
-100 + 20 

a 

T|T JRÌ folY YIT 3Co = 36- 72 =-36 

(c) 

stt: 12 H 3R0 fey fey r sio =6x 12 =72 

HÍy (-36) 30# fHT -36 + (-2) = 18 TT SrRd R 

23 

T|ld GR0 ¢ foY YIGIS =- 12- 30 = -42 

Ëg H¥ GR0 fY fy T sio = 5 x6= 30 

� 42 3j5 fHI -42 +(-2) = 21 G SR q 

85 +�5) 



1.11 41| wfyr + TUT (Properties of Division Operation) 

I. 

I. 

IV. 

V. 

-6+(-2) =3, qutG HI 

qRg-2 +(-6) = 

- 12 +(- 4) =3 

-12 +(-4) *-4+(-12) 

05=0 

-2 

-4+0= 3yffG 

-6 

- 10 ÷ 1=-10 

g4 GlT 0+4 = 

(-4) + (-1) =4 

0 1-1 1 
4 4 4 4 

6+(-2)=-3 y# qurftes 

5+0=yfftT 

24) 

-4+(-12) = 

0 

+5÷1=5 

-4 
-12 

=4+(-1) =-4 



V. 

1. 

2. 

3. 

RI H O8 HOt 
g4 GTA 

) 

(iv) 

(vi) 

) 

(ii) 
(v) 

(m) 

(v) 

-8) + (- 4)] ÷(-2) yd (-8) +[-4) +(-2)] aRTAR 3? 
[(-8) + (-4)] +(-2) = 2 +-2 =-1 

(-8) + [(-4) +(- 2)] =(-8) +2=-4 
(-8) +(-4)] +(-2) + (-8) +(-4)+(- 2)) 

(-40) +5 () 

0÷50 

(-56) + (-4) (v) 

5 x 8= 40 
- 12 x 9=-108 

- 10 x 8 =- 80 

yTe- 1.3 

(vi) 

D-8) = (-12) 
24+-4 
-48 +6=O 

(-450) +3 (i) 
25 + 5 

50 ÷ 0 

(i) 

(iv) 

25 

(vi) 

-4 x46) = 24 

(ü) 

(ix) 

-4 x-12) = 48 

(iv) 

(-45) +(-5) 

(-128) +(-16) 
(-80) + (-80) 

+8=(-9) 
-80 +|= 10 



4. 

5. 

6. 

(ii) 
(v) 

-25 +0 =0 

4. 

- 125 

12 AI94H RUI ET ? 

T? 

8 + 20 +25 1x10-4 
8+ 20 ÷ 25 T x10-4 

l=-125 

=8 + 20 ÷ 5x 10-4 

=8 +4x 10� 4 
=8+ 40� 4 
= 48 �4 = 44 

240 b 

7 7 

reta 4Ô % 5 200. 

26 

(iv) 
(vi) 

0+5 -0 

- 45 + (- 45) = 1 



JirU 6. 

350+ 
7 

7 350+ 

50 

y" (+) 474|I 

=5x 10+3× 10 

= 50+30 
= 80 

ISG (Bracket) fA yoR 

ioI (Snali brcket 
2+3x (4-2) g4À 4-2 

= 10 x (5 +3) 
= 10 x8 

foHOI B Y3 oTI -3+4-2+ (2-3+ 4) 2-3 o Y5 ~e 

=80 

| Parenthesis): HT fE "O" G 
4E BT rHT I 

27 

i Ajei (rly drcket | Braces) : ^HbT fe "{ " I 
i G-«f (Big brackei 4 Square bracket) : FHGT fez "I ]" | 
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JGTERU-8. (14+7) x [8+ (3+ 8-2 }]-(5-2) 
Bd : (14+7) x [8+ (3+ 8-2 )] -(5 �2) 

) 
) 

(m) 
(iv) 

() 

(ii) 

() 

(iv) 

(v) 

-14xx [8 + (3+6))-3 
=2 x [8 +9]-3 
=2x 17-3 

= 34 -3=31 

("T, +, x, +, -) T Yli | 

28 
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) 

() 

B 

D 

M 

A 

=-(12-4+2-5) 

= [90� 50] +5 

= 40 +5 

Bracket (ss) 

1 

Of () 

= 40 x=8 

Division (HT) 

of HT (y) faa T¥I GGeITT :- 12 +4�2+5=+(- 12 +4 
2+5) 

Multiplication ") 

Bd : [(60 + 30) � 50] +5 (36 fgaru 1 fru Hy) 

Addition (Gis) 
Subtraction (ge) 

20 



1. 

2. 

3. 

i) 

(iv) 

(vi) 

(vVii) 

(x) 

) 
(ü) 
(ü) 

(iv) 
(v) 

i) 

(m) 

(V) 
(vi) 
(vi) 
(vii) 

(ix) 

20 T 

12 9 
7 35 

4 

1 

() 

(v) 

16+ (15-8-3)+4 
(30 �5 x6+2) +2 

yIA-1.4 

20 Tx-++10-15 
4 5 8 

25 eT 5 y 

12+6-2+10 

2 TeT 4 $ u5d 

50 + {15-5+ (8- 2)} 

25+| 

250 

75 60 -X 

5 [S-{5-(5-5�5))] 

0-2-20 

18 36 

69 4 3itN 6 U-45 1 4 I 4T4T I 

(ix) 

I feh I 124 

50 

2 6 I 9 

(ü) 

3 

(iv) 

15 -(-3) (4�4) + (5 +(-6) x (-3)} 

103 - [144 + (12 x 12) + 5 + 12+6-2+10| 

(i) 220 

UT 

(vi) 

14 +(3 6T 2-(5-6)) +9 

HT I 

(-6) +(-6) +2-[-5) x (- 1) - 2 (4 - 2)] 

2 8 

20-(8 +5) 

8 (6+2 {5�4(5�8)}] 

U-5 6 YTT 

15 + [2-3- (2 (5 �4 + 1)}]) 



1. 

2 

3 

4 

5. 

6. 

7. 

- 1, 0, 1, 2, 3, 4, 5, 

(3i) 

(a) 

() 

(a) 

a+b= b+a, 4rgi e fey T¥i 34eit a-b+b-a 

(31) 

(a-b)-c=a-(b-c) 

a +.0 = 0+a=a JI}| 

BGTSYU: -2 x 7 =-14 3R -3 x -8 = 24 }| 

31 

qufs 

a qt b 



9. 

10. 

11. 

(a) 

(a) 

() 

(3) 

qrtot a, b reT c ¢ fry a x (b + c) = a x b+axc 

(a) 

() 

() 

() 
(a) 

() 

() 

b + fy axb=bxa BlaT 

(u) 

c $ fy (ax b) xc=ax (bx c) ~I 

t 5+ l=5,4+ l =4 4tq a ÷1=a GaÍ a hIS y# yut | 

GR: 5+1)=5, TT 6+-1)=-6 
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